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DIPLOMA ENGINEERING - SEMESTER - 6(NEW) « EXAMINATION - SUMMER 2018

Subject Code: 3361906

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: Power Plant Engineering
Time: 10:30 AM TO 01:00 PM Total Marks: 70
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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. £2H{l SlEURL Ulctoll cllot L.
State any two points of difference between power plant and power station.
UlCR W2 Aol UlaR ol dA dslad ol A Hal AWl
State the Source of energy use in power plant.

UlalR W2 Hie duRldl Gaiotl Blld cul.

Give the classification of hydro power plant.

BBl UlaR weie of aollswL saudl.

State the four advantages of Diesel power plant.

Sl W Wiz ol UR Sl2AEL AU

State the Removal process of Nuclear wastage.

oscllar Aresll ollsict (AN el

State the working of Rankine cycle in brief.

3518l ALASA of  aASlol gsHL U

Give the types of Superheater.

YuReleell ysix Ul

List the instrumentation used in modern power plant.

MSet WeR iz MU dURldl 8egHzalet of dle 52U
State the advantages of solar power plant.

A WCR Wi sl SLAEL .

State types of tariff.

23lsall UslR s.ual.

Discuss energy needs of India.
QURAML Aot ofl 32l UAL

OR
Explain national grid

Aot Ils uMestal.

Explain general arrangement of diesel power plant

Slosct Wk weie ol AtHtot dNsaR(l AHestA.
OR
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Give technical data of hydro power plants in Gujarat

el ML AUAAL LB ULAR Weie ol 2sellse dal s.udl,

State the types of power plant and explain energy conversion in each type.
UlalR Weizoll Usl? wRUCl ol €5 HL Ucll Wl %512 AHX .

OR
Explain basic physics of nuclear power plant.

oscllaR WaR el of Ulalle] Slosst AMescl.
Explain benson boiler.
Aotel GlB8AHR UHX.

OR
Explain Reheat rankine cycle.
Aele Isi8el ASAH UMl
Explain FBC Boiler.
FBC GlocR AHastal.

OR

Explain Stirling boiler.

Aol s8R UMl

Explain fuel handling systems of steam power plant
WIH W wie of ad 8scllol utedl umendl.

OR
Explain concept of ESP.

ESP soldle duoslcl.

Draw schematic diagram of modern thermal power plant mentioning name
each part. '

ULYAs UAMA UlaR iz oll BIAEs stauUH €1R], €35 GLILall ollH
oLl

OR
Explain effect of load variation in steam power plant.

WM wWaR wie Hl Als AZlAxet ofl AU UMl
Explain need of Record keeping in steam power plant.
W war wie H 288 Sldloell 3Raud audl.

OR
Explain methods to improve the thermal efficiency of simple open cycle gas
turbine power plant.

ALEL W Uol ARASEH M 20U8el UlcR Welle Hl URHE E&ldl dulRell
ol A AHestAl.

State advantage of gas turbine power plant over thermal power plant.
AU 2R0UBel UlaR Wi HL $LAEL URHA ULAR Wi2ell Aot oML

oLl

OR
State Essential auxiliaries of gas turbine power plant.

AU 2ul8et WaR weizell %33l WsBet wseudl.
Explain Wind turbine power plant.
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s 280 WaR wie (AN AHxAl.

OR
State Conversion system of solar energy and Explain any one.

AAR Wt ofl sotcRUet Utedl sRUA wal 518 As UMl

Steam power plant working on rankine cycle has following data-
1. The pressure of steam entering turbine is 2500 KPa
2. Condenser pressure 0.4 x 10° n/m?
3. Steam is 50° ¢ superheat.
Find out thermal efficiency and specific steam consumption ignoring
pump work

35180l ARASAH UR 51 5l WIH WadR wie ot oA el 3at
Al eRHA eatcdl wal AAL4ls WM st el Wrd af ALall.

1. 20U8et UL eld Ul ¥ Hej eaRl 2500 SLuL,
2. $3UR YUR 0.4 x 10° n/m?
3. WU 500 c Yur dle B.

Explain Nuclear reactor.
scllar Ase2 (AW AHstAl

Air entering to compressor in air standard gas turbine at 16 ° temperature and
1 bar pressure. The pressure is increase up to 5 bar in a compressor. The
temperature of air entering the turbine is 810° and expands up to 1 bar
pressure. Find turbine work and compressor work.

AR WUotsS AU 20Ut HL SUYAML EHA AUl &clle] dluHLeal 16%
ol EOURL 1 GIR B. Rl EGURL 5 GIR B2 AU 8. 2RGUYoHl EIHA
Al gcllo] cluMlat 810%° Aol 1 wlR ecttll Yl flrdel WA 8.

2R0l8a Aal sLYAR st 2l

Write short note on cost of Electric energy.

SAS3LS Wl ofl sle Wuall HI2 g5ollott A
Explain air preheated use in thermal power plant.

URHA UWaR iz HL duRldl AR Yléle: uxestal.
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